2.13 — Direct and 1inverse
variation

Student name:

Score:
1.y varies as the square root of w.
Whenw=09,y=4.
Find the value of y when w = 36.
Answer y= llIl8lll.lllllllllIIIIIIIIIIIIIIIIIIIIII.I [3]
2. yvaries inversely as the square root of x.
Whenx =9, y=2.
(a) Find y in terms of x. i
A"‘g“'e'.(a) -V = lll.l.llﬁlllllll.llllllll S asIasIasIaINIEny [2]
(b) Find y when x = 36.
Answer(h) y= L [1]
(¢) Write x in terms of y. 36
A’1S‘4'e"(c) -\. = IIIIIIIIIIJIII%IIII llllllll [3]

(d) When y is multiplied by 0.5, x is multiplied by £.
Find the value of £.

Answer(d) 4

The resistance, R ohms, of a standard length of wire varies inversely as the square of its
diameter, dmm.

(a) The resistance of a standard length of wire of diameter 0.5mm is 0.8 ohms.

(i) Find a formula for R in terms of d. E
Answer@() R= Lo 3]
(ii) Find the resistance of a standard length of the same type of wire with diameter 2 mm.
Answer(a)(ii) | AR 1 T——" ohms [1]
(iii) The resistance of a standard length of the same type of wire is 4 ohms.
Find the diameter of this wire.
A’1‘S‘“ve’.(a)(iii) -.-...'.9;-2'.2.4.‘-..--....--..-..-..-... n]m [2]

(b) For a different type of wire the resistance of a standard length is 2 ohms.
Find the resistance of a standard length of this wire when the diameter is doubled.

Answer(b) 0.5

e tetresssesesreseesenss Ohms [2]
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4. y varies inversely as the square root of x.
y=16 when x = 4.
(a) Find the value of y when x = 16.
Answer(@) y = 8., (3]
(b) Find the value of x when y = 64.
A’7S“Je"(b) -\' = llllllol;?lélllllIllIllllllllllllllllllllllll [2]
(¢) Find x in terms of y. 1024 32 \2
| Xt
An"s‘“‘ler(c/} x = IIII:IVIIIIIIIIIIIIIII:I):IIIIIIIIIIlIIIIIIII [3]
5. (a) vy varies inversely as the square root of x.
yv=5whenx=9.
(i) Find the value of y when x = 25.
Answer(a)(D) y = ......... 3 ...................................................... [2]
(i) Find the value of x when y = 25.
Answer(a)(i) x = ......... 0 36 ................................................ [2]
(iii) Find x in terms of y. 225 152
> or (<)
Answer(a)(ii)) x = ......... Y Y e [2]
6. The frequency of a radio wave, f, is inversely proportional to the wavelength, L metres.
A radio station broadcasts on a frequency of 93.7 and a wavelength of 3.2 m.
(a) Find a formula for f; in terms of L, writing any constants correct to 3 significant figures.
300
I T T PPy [3]
(b) Chat Radio broadcasts with a wavelength of 2.8 m.
Find the frequency of Chat Radio.
107
................................................................. [1]
(c) Allsports Radio broadcasts with a frequency of 0.35 .
Find the wavelength of Allsports Radio.
O m [2]
il ,&\4 I’
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